INTERMEDIATE EXAMINATION - 2019 (ANNUAL)
Model Set

Economics (3r2f3m&)

gienefal @ fory [Ader —

Instructions for the candidates :-

1 URIETTRfl JUTHHE 7T TRl H B IR S |
Candidates are required to give théir answers in their own words
as far as practicable.

2 qrfel &R TR WR & gU ofe guie ffde ova ¥
Figures in the right hand margin indicate full marks.

3. SR oo Gy Uil JUqraa T —UHT BT e < |
While answering the questions, candidate should adhere to the
word limit as for as practicable.

4, wwﬁm@m%ﬁzﬁmq1sﬁﬂemaﬁrﬁaﬁwﬁmw%|
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

5, gE YU T WUl H B, WUS—3 Ud EUs—4 |
This question paper has two sections : Section-A and Section-B.

6. Gue—3 # 50 IS U 8, W g ifard €|
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In Section-A, there are 50 _objective type questions which are
compulsory, each carrying 1 marks. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitgner/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Grs—4 # IR-TRTS 78T § 25 TSN yee ¥ R 9 e 15
Tl B SIR oA I ® | 9 yeR @ fig 2 o PR 2 swe
sifdRea wvs—9 # 08 <ref STy usd N Ry v & R @ 5 4
gl & SR <A1 Sifard B | Uhd g @ fr 05 ofa FeiRe ¥

In Section-B, there are Non-objective type questions. There are
25 Short answer type questions, out of which any 15 questions are
to be answered. Each question carries 2 marks. Apart from this,
there are 8 Long answer type questions, out-of which any 4 of
them are to be answered. Each question carries 5 marks.

f¥fl TR ® goIaSi-p—3a &l s?ﬁma gfofa 2|

Use of any electronic device is prohibited.



GUs—3 (T3 ge)

U AT 1 | 50 9 axgTe yed & e der aR Reen Ry v §
S & 7 |ET €1 o gRT g T WE fiden B OMR—3fie & faifed o |

Question No.- 1 to 50 have four options provided out of which only one
is correct. You have to mark, your selected option, on the OMR-Sheet. Each

question carries 1 (one) marks.

1, foa we1 & 5 el a9 &1 s 2
|
A. Arefe B. Jifa=q
C. TsH fer D. 379 9 &g 78

Who said “Economics is the science of wealth”?
A. Marshall B. Robbins
C. Adam Smith D. None of thes

2, Argshiot gt ared gy @ —sier g 3 ¥ b9 ¥ Oafg 27
A. 3R ‘B. W&
C. ¥4 D. 3U<i

‘Mikross’ which means ‘small’ belongs to
A. Arabic word B. Greek word

C. German Word D. English word



Wﬁﬁ'm'mﬁwﬁmﬁwﬁﬁm?

A. ATt B. i

C. fegw D. d=gera
Who gave the ‘Cardinal’ concept of utility?
A. Marshall B. Pigou

C. Hicks 'D. Samuelson

AR 9% & AT 9% P - ,

A FUTHE B B B. T7® &I &
C. I &l 2 D. g7 & 1 =8|

The slope of the demand curve of a normal good is

A. Negative B. Positive

C. Zero D. None of these

AT SUAIRTaT FrebTer a1 w3 B § @ @iy 87

ATU AMU
A Q B. AQ
G D. 57 ¥ ®¥ 7@
Which one is the formula to calculate ‘Marginal Utility'?
ATU AMU
A. Q ,B. AQ
AQ

C. Al D. None of these



STETIS aARGAT D1 AT B g B & —
A. I B. srdifaa
C. 315 & 3fds D. 3&18 9 &H

Elasticity of demand for necessities is -
A. Zero B. Unlimited

C. Greater than unity D. Less than unity

Fifte avgeit @ forg @iwa AT o o ey 20
{

A. FOTHS B. @

C. I -D. 379 & 31 =&

Price Elasticity of demand for Giffin good is -
A. Negative B. Positive
C. Zero D. None of these

HUPTCAI S -Be @1 e FefaRed ¥ foa fram & g &)
STl 27

A. W BT forgm 'B. uRad=eiet srumat @1 frem

C. UM & ufiwd &1 . D, |/ @) &

Which of the following explains the short run Production Function?
A. Law of Demand B. Laws of Variable Proportions

C. Laws of Returns to scale D. Elasticity of demand.



10.

11.

e omra & Frafafed § & fe afafT far oar 82
A IR A B. ad & Td
C. 3R AT D. Sugaq

Which of the following is included in Money Cost?

A. Normal profit B. Explicit cost

C. Implicit cost D. All the above

3T AN ash BT & — :

A. U smed @ B. X 38T & \WHMR
C. AfTRIAIHR D. 7% 4 3% &

The shape of Average cost curve is -
A. U-Shaped B. Line parallel to X-axis

C. Rectangular hyperbola shaped D. None of these

ferferad # & @ a1 pom wE & 2
A. 3IRTd JTTH 3R P Uh 2 |

B. 3T 3T Ym € AT e B 2
C. 31 3R g g1

D. 3779 ¥ &I =g

Which of the following is a true statement?

A. Average Revenue indicates price



12.

13.

14.

B. Average Revenue Curve and Demand curve are same

C.Both Aand B

D. None of these

-

=1 & @ Sares &1 B wfg awre 22
A. gSit B. &9
C. qfa D. 374 & &I 71T |

Which of the following is an active factor of production.
‘

A. Capital B. Labour

C. Land _D. None of these
B B e ¥ BT 2

A. MR =MC B. MR > MC

C. MR <AR D. MR < MC

For a firms’s Equilibrium -

A. MR = MC B.MR > MC
C. MR < AR D. MR < MC
=ferRag & o9 a1 Foa e 2

A TG B BT TG SER S B dr e e 2
B. qff ¥@r a1l @ T B 7 iR Sodt 2|

7



15.

16.

C. 4ft @1 /% aca yoifag et 2
D. SYa w1 |

Which of the following statement is true ?
A. Price and Supply have direct relationship
B. Supply curve rises from left to right

C. Supply is affected by many factors

D. All the above 0

gt @1 ofr" BT A BT g 2
A- A2 g 2 B. AQ /@
Ap P AP/ P
C. 4 _F D. 579 94 &g =7 |
AQS AQS
Elasticity of supply is -
AR = 1 AQ® /@
AP . P -B' AP P
AP P
aa® ®aa® D. None of these
THIAHR frfdr &) srauron freas fear?
A &g B. TwRfe
C. sfmeht Ifa=ae D. 379 9 &I 78

Who gave the concept of Monopolistic competition is given by

whom?



7.

18.

19.

A. Hicks B. Chamberlin

C. Mrs. Robinson D. None of these

foas @l o1 fo “fedl o] & dEa A AT gfd H wfdaal gR
iR g 87 ?

A Sl B. areRd’

C. #mefe D. feda

Who said, “Price of a good is determined by both demand and

¢
supply forces™?

A. Jevons B. Walras
C. Marshall "D. Hicks

frmfafea & 9 feas qou fuRor § w99 9@ @1 s@uReT uwa

frar?
A. Rare B. arelRd
C. #refat D. 90 & Hedr

Who ave the concept of ‘'Time Element’ in price determination?
A. Ricardo 'B. Walras
C. Marshall D. J. K. Mehta

1 A 9 gfef & MR R ITRA—THI / Jafey Bl e sraferai H drer

T BY?



20.

21.

A =1 B. &=
C. g D. 3 ¥ P
How many categories of Production duration are on the basis of

supply, the production time/duration is divided into how many

categories?
A. Two B. Three
C. Five D. None of these

i {
vTfaeR gfaaifiar @1 frafafad § @ o9 @ faewan 22
A. fddiaa Iemes B. IT9TR &1 guf &M

C. fasrg T D. A 3R B S|

Which one is a feature of Monopolistic Competition?

A. Differentiated product B. Perfect Knowledge of the Market

C. Selling cost D. Both A and B

IR &1 F=feRad § o9 @ fagivar 27

A TF 87 B. il 3R fasmdren &) SuRery
C. o &1 & I D. g4 w1

Which of the following is a characteristic of the market?
A. One Area B. Presence of Buyers and sellers

C. Single Price -D. All the above

10



22,

23.

24,

ST Sreqemrer ¥ gff nfi—

A U SRR B. gofa: SeirereR
C. drEeR D. s ®1¥ =)
In very short period supply will be :

A. Perfectly Elastic "B. Perfectly Inelastic

C. Elastic D. None of these

T BT FHRI-Yarg & omfier & —
{
A. IrEIfdP—ygarg B. Aifte—yarg
C. 31 3N 9 g D. SRR # & &1 787 |

Circular flow of income consists of

A. Real flow B. Monetary flow

C. BothAand B D. None of the above
eI &3 # aftaferg gar 2

A FfY B. T&xT =R

C. &g s&nr D. 579 4 W

Primary sector includes-

A. Agriculture B. Retail Trade

C. Small Industry D. All the above

11



25.

26.

27,

TH W B g B ?
A. GNP = GDP+ firgrae _ B. . NNP=GNP+frqrae
C. NNP=GNP-forarge D. GNP=NNP-forgmee

Which one is true?
A. GNP = GDP+ Depreciation B. NNP=GNP+Depreciation
C. NNP=GNP-Depreciation D. GNP=NNP-Depreciation

memmwaﬁfmmw%‘—
A F&d e 'B. I e
C. T amy D. 9 & ®1F &

Net National Income at Factor cost is known as -
A. Gross Investement B. National Income

C. Domestic Income D. None of these

wamwwﬁw%ﬁgaﬁﬁﬁmﬁr@ﬁ%mw%‘?

A. SdTe fafy -B. 3afafey

C. =g fafy D. & w+ft

Which of the following methods is adopted for measuring National

Income?
A. Production Method B. Income Method

C. Expenditure Method D. All the above

12



28.

29.

30.

ﬁw%ﬁﬁaﬁ:rﬁwwzmmﬁ?
A. FTHTeT B. aifgaRa amy
C. fvm oy o D. Sugaq a

Which one is a component of Profit ?

A. Dividend _B. Undistributed Profit

C. Corporate profit tax D. All the above
ﬁw%@ﬁﬁﬁﬁﬂﬁm"gmagféaﬁﬁmmmaﬁr
A. gTd fagd B. g%

C. 9o Ty D. =1

Who said it “Money is what money does.”
A. Hartley ‘B. Hawtrey
C. Prof. Thomas D. Keynes

ﬁwﬁﬁﬁmzﬁmﬁzﬁaﬂﬁaﬂﬁﬁ?
A. faferra &1 ameam B. 1 &1 A1uyss
C. 31 3R § =Y D. 9 &7 =y

Which of the following is Primary Function of Money?
A. Medium of Exchange B. Measure of Value

C. Both A and B D. Store of Value

13



31.

32.

33.

9% BT GO e BRf Far 27
A FoT S47 B. A1 WeR $Her
C. ¢ &1 o1t By ‘D,Wﬁaﬁé?‘é’}f

Which is Agency Function of Banks?

A. Advancing loans B. Accepting Deposits

C. Act as Trustee D. None of these

TS §6 F1 BRI & — f

A. BT e BT frfee ger .B. TEDI &7 S Wier gy
C. UTEPT BT For a7 D. B 3R C gy

Function of Commercial Banks s to -

A. Issue Currency Notes

B. Accepting deposits from customers
C. Provide loans to customers

D. BothB and C

Rerd 4 oife $Rear 1 v 9 g2 2
A 1947 B. 1935

C. 1937 D. 1945

In which year Reserve Bank of India was established?

14"



34.

35.

36.

A. 1947 B. 1935

C. 1937 D. 1945
Wﬁ%ﬁwﬁﬁwﬁaaﬁmﬁ%%aﬁﬁmﬁé-
A R GuR B. af7T gur

C. Bff gur D. 379 &1 #d =&

Narsimham Committee is related to which of the following -
A. Tax Reforms B. Banking Reforms

(
C. Agriculture Reforms D. None of these

WRT H HaT gfef & fhas |mg € ?
A TH B. a1
C. IR -D. 579 @1E 78

How many measures of Money Supply are there in India?
A. One B. Two

C. Four D. None of these

WE—HaT BT faR 817 @ W9 CRR
A. "ear g B. ggar 2
C. & 3R ¥ 2 D. 37 ¥ T

Credit money expands when CRR

15



37.

38.

39.

A. Falls B. Rises
C. Both A and B D. None of these

‘General Theory of Employment, Interest and Money' «ms PESET
@ AEE B § ?

A gL B. oo

C. S w1 Py D. Arefer

Who is the writer of the book ‘General Theory of Employment,

‘
Interest and Money’

A. Pigou B. Malthus

C. J. M. Keynes D. Marshall

W—Wmﬁwwﬁahmﬁﬁr%&qaﬁ@%a%gwﬁm?

A. 99d > gy B. a9 < 5=

C. 991 = a9y D. 57 & &1 78

At which of fhe following point lncome—Empioyment Equilibrium
occurs?

A. Saving > Investment B. Investment > Saving

C. Saving = Investment D. None of these

DI AT B Feg & 7

16



40.

41.

42,

1 1

A KR e B.k= s
Cim =le D. & % &g 7

Which one is correct ?

1

o RN 5
AKE e B.k= s

E 1 '
C k= g D. None of these
Frfefaa & a9 orendm Sify § oMM 87
A. FrESIS g B. #xRIgor
C. TSI oy D. Sugeaa a+t
Which of the followings included in Fiscal Policy?
A. Public Expenditure B. Taxation
C. Public Debt _D. All the above
SATBICTD S=IRTT A1 & —
A =T | @ B. STEHIT a1

C. Pt ISR HgerT &1 D. 574 &1 =&

Deflationary gap is the measurement of -
A. Deficient Demand B. Surplus Demand
C. Full equilibrium Employment D. None of these

R &7 fa<iig g & —

17



43.

44,

45,

A 130 & 31 77 B. 1 59 4 31 fegry
C. 30 Iraear ¥ 1 Ryqwee D. 379 &1¥ =&

Financial year in India IS -

A. 1% April to 31 March B. 1*' Jan to 31% Dec.
C. 30" Oct. to 1 Sept. D. None of these
IV B HAYcHd FrfoRag & § P 8?

A. I5ic giftggt B. g9 =g

i
C. 31 3R 9 g} D. 359 9§ &1 =g

Which of the following is a component of Budget?
A. Budget Receipts B. Budget Expenditure

C. Both Aand B D. None of these

m&mwzﬁa?fﬂﬁﬁw%%aﬁ@%ﬁwﬁa%mw%’?

A. JE Iop B. famt v
C. 31 3R 9 ) D. ¥Ry o=

Which of the following is included in Indirect Tax?
A. Excise Duty B. Sales Tax
C. Both A and B D. Wealth Tax

goIC # 8 9Far & —

18



46.

47.

A. I grer B. faxig =rer

C. urIfa® ey D. 379 9 i

Budget may include -

A. Revenue Deficit B. Fiscal Deficit
C. Primary Deficit D. All the above
U8 Y B — -

A. I IR B. SuER &%

C. A 3R B 3=f D. ':FI;I W PIg 7
Is Direct Tax -

A. Income Tax B. Gift Tax

C. Both Aand B D. None of these

ReR Rfwa @ & Frerfefr & & 3 & w7 &
A. fafma 5= @7 wuiae goreh

B. faffa &% @1 dergew gomeh

C. A 3R B g}

D. 359 & 31 78

Which one is a type of Fixed Exchange Rate?
A. Gold Standard System of Exchange Rate

B. Bretton Woods System of Exchange Rate

19



48,

C. Both A and B
D. None of these

IR 9§ = ?

Balance of Trade = ?
A. Export of Visible ltems — Import of Invisible Items

B. Export of both visible and Invisible Items — Import of both visible

and invisible items.

49,

C. Import of Visible Items — Export of Visible Items

D. None of these

qTAA I Sfrfa s < A whefe B 2 2
A 3T 7S 'B. 3rgeg 7%
C. gofl 3oy D. Sugaa &

Which items are included in Balance of Payment?

A. Visible Items B. Invisible Items

20



50.

C. Capital Transfers D. All the above

=1 7 & B 5w g 2 2
A. Tefi9 B. dfdw
C. TSR D. Suaq g+

Which of the following is Visible Item?
A. Machine B. Banking

C. Shiping D. All the above
{

21
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Section-B (Non-Obijective Type Quesitons)

oY NI 9% (Short Answer Type Questions)

Wﬂ@ﬂﬁzsaasageﬁﬁuaﬁ%a%wélsﬂﬁﬁ%ﬁwma%w
Wso@ﬁ%ru@mm%%z%ﬁﬂfﬁaﬁr (15x2=30)

Question no. 1 to 25 are Short answer type questions. Answer any 15 them

in 50 words. Each question carries 2 marks. 0 (15x2=30)

1 e forar @ #2
What is ‘Economic Activity'?
i R B vy axg 7T 87
What is the subject-matter of Economics?
8. TIT DI FHET FqT 87
What is problem of Choice?
4. ST el F &7
What is Consumer’s Equilibrium?
5. frftesy avqd @ 87
What are Giffin goods?
6. 1T SuAifar ek ger Suaifar % oy W N |

Distinguish between Marginal Utility and total Utility.
7. AT B A Fqr 87

22



10.

11

12;

13.

14.

15.

16.

What is Elasticity of Demand?

AT B dIferpr aay &7

What is Demand Schedule?

SATET—Hed YT 27

What is Production Function?

IRaeTeier amrg @ &2

What is Variable Cost?

NI ST &R st e 4 ey R 3|

Explain the relationship between Marginal Revenue and Average
Revenue.

o IR vd waeR F gy PIfSTY |

Distinguish between Perfect Competition and Monopoly.

Tt SRR F e o gy @ 2

How is price determined under Perfect Competition?
Wﬂwwﬁsﬁwﬁwﬁwa%maﬁaﬁmﬁ%@l

Mention the two conditions of consumer's equilibrium in
Indifference Curve Analysis,

U T T 2 T B S 2 87

What is Supply curve? What type of slope does it have?

a?iﬁaawa%maﬁ?ﬁaﬁaﬁqﬁﬂmaﬁﬁm

Define Primary Sector of the €conomy.

23



b 37 & ?
What is Stock?
e, B SR ReR By ) Wiy oy o e

Distinguish between National Income at current prices and
constant prices. :

Uh Ffararer & 1T a5 @y 27

What are the three sectors of an economy?

5T B Ui ety 27 i

What are the Primary Functions of Money?

] faf g gomel ey pea &0

What is Barter system of Exchange?

Ueed SR SMREH RIS § sy HIFTY |

Distinguish between Voluntary and Involuntary Unemployment.
WHRT I9TC & el QA wevat 7 woarg oY |

Discuss any two objectives of Government Budget.

THTET AT @ 22

What is Effective Demand?
g1 BT qore T /7

What is Deficit Budget?

24



<" S99 93 (Long Answer Type Questions)

szeﬁssaaaﬂa‘eﬂﬁuﬁ%a%wﬁwﬂﬁﬁﬁﬁihmaﬁw
Hféamqmomﬁﬁélmwa}%qsmﬁwﬁa%l (5x4=20)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them in 100 words. Each question carries 5 marks. (5x4=20)

26.

27.

28.

29.

30.

31.

32.

33.

AW YR e ay 22

What is law of Equi-Marginal Utility?

T B R A e

Explain the law of Demand.

yRerefier srqura & fgm @ W ;bﬁf'l

Explain the law of Variable Proportions.

oot uferfirar & ot 3 HAT Bl FHS |

Explain Firm’s Equilibrium in Perfect completion.

RIS 3T ¥ 319 T FHE 87 78 B A oy 22

What do you mean by National Income? How is it measured?
W%m@ﬂw%ﬁﬁm%wﬁgﬁwﬁi
Explain the salient points of Keynesian concept of Income &
Employment theory.

Faw & fafi=r feRet a1 W qofT o3|

Give a brief description of the various determinants of Investment.
THTRIBR ¥ e o7 FuiRor @ 2y 27

How is values/price is determined under monopoly?

25



